
Birds’ Eggs                                                                        Rubric

Points
Section
points

1. Places point correctly on graph.
Accept points within 1 square of correct position. 1

1

2. Gives a correct description such as:
Generally, the greater the length of the egg, the greater is its width. 2

2

3. Gives correct answer:  25 mm approximately.
Accept values between 22 and 28.

2

2

4. Gives a correct explanation such as:
D is longer (but they have the same width).
or
C is a shorter (and fatter shape).

2
or
2

2

5. Gives a correct answer:  E
and
Gives a correct explanation such as:
The line joining E to the origin is the flattest of all the lines joining A, B, C,
D, and E to the origin.
or
Gives all the ratios simplified for comparison.

1

2
or
2 3

Total Points 10


